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log? (2 - |x]) - log, (2 - |x]) < 0
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ca:2-|x|>0 = |X|<2 => -2<x<2

Pongo: log, (2 - |x]) =t = t*-t<0
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t(t°-1)<0 = t(t-1)(t+1)<0 = t<-100<t<l =
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X< 2<xs 5 5
-3 37 73 :>—§sxs—1mlsxs?3
|x]=1 x<-10x21
—-2<X<?2
5 5
5 5§ => ——<Xx<-101<sxs—
—gsxs—lﬂlsxsé 3 3

log (2x—-2) > log (x +1)

2x—-2>0 Xx>1
X+1>0 = Xx>-1 = X>3
2Xx—-2>x+1 X>3

Iog}/2 (2x-1) > Iog% (3x+2)

X>=

2x-1>0 2
2 1

3x+2>0 = X>_§ = X>§
2Xx-1>3x+2 x> -3
2log,x > log, 4 (x-1)
x>0 x>0
x-1>0 = x>1 = x>1 LC x#2
X2 >4x - 4 X# 2

Iogy2(4x-—1)+logy2(1—-x):>Iogyz(3x-—1)+logy2(14-x)
log,, (4x—1) (1-x) > log,, (3x-1) (1+ x)

1

X>=

4x-1>0 4

1-x>0 x<1

3x-1>0 = x>%

1+x>0 x> -1
AX —4X° -1+ x<3x+3x*-1-x 3
x<0[]x>7

—<x<1
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log; (X —16) + log, x > log, 105
log; x (x —16) > log, 105

Xx-16>0 X >16
x>0 = Xx<0 = x>21
x? —16x > 105 x<-50 x>21

log,, (x+3) + log,, (x=5) > 2log,, X
log,, (x +3) (x-5) > log,, x°

X+3>0 x>-3

Xx-5>0 X >3

«>0 = x>0 = X>5
x> =5x+3x-15> x? x>—1—25

log,, (x+1) >0

X+1>0 X>-1
= = -1<x<0
x+1<1 x<0

log/7x+5 + log.2x+7 <1+Iogg

%Iog (7x+5) + %Iog (2x+7) < log 10 + Iogg

% log (7x+5)(2x+7) <log45 = log (14x* +59x + 35) < log 45

5
X>—=
7X+5>0 7
2X+7>0 = X>—£ = —§<x<10
14 x> +59 x —1990 < 0 199
-— < x<10
14
10gy5 (2X = 5) + 10gys (4= X) > 21005 (X = 2)
10gys (2% = 5) (4= X) > 210gys (X = 2)
2x =550 x>
4-x>0 X <4 B 8
X—-2>0 = x> D = §<X<§D3<X<4
8Xx —2x°-20+5x< x* —4x +4 x<ng>3



